



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 6th Semester Morning Session: Autumn 2025

Registration #	Name	COM 111					COM 212					COM 221					ELIN 116					ELIN 324					ELIN 325				
		English-I					English-III: Communication and Presentation Skills					Computer					Introduction to Linguistics					Psycholinguistics					Stylistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-22/M/A/002	Abdul Sami	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	5	F	-	3	-	
IS/BS/ENG/A-22/M/A/012	Dil Ruba	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	50	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/A/014	Faiza Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	62	C	2.0	3	6.0	75	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/A/027	Laiba Kamran	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	58	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/A/029	Malghalara Yousaf (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/033	Muhammad Kazim	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	56	C	2.0	3	6.0		
IS/BS/ENG/A-22/M/A/042	Sabahat Umar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	50	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/A/044	Samee Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	
IS/BS/ENG/A-22/M/A/046	Sidra Hameed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	62	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/019	Muhammad Waleed Abdullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	
IS/BS/ENG/A-22/M/B/021	Nabeela Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	60	C	2.0	3	6.0	
IS/BS/ENG/A-22/M/B/024	Noureen Kousar	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/025	Palwasha Bibi	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	44	F	-	3	-	
IS/BS/ENG/A-22/M/B/046	Waqar Ahmad	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/002	Alishba Shahid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	55	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/007	Areej Mustafa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	70	B	3.0	3	9.0	
IS/BS/ENG/S-23/M/008	Bareera Sadaqat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	38	F	-	3	-	55	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/009	Barirah Batool	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	80	A	4.0	3	12.0	
IS/BS/ENG/S-23/M/011	Chaudhary Noman Ahmad Javed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	58	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/013	Faiza Ramzan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/014	Fatima Baig	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	
IS/BS/ENG/S-23/M/017	Haleema Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	57	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/021	Huma Riasat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	44	F	-	3	-	
IS/BS/ENG/S-23/M/022	Iqra Ghafoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	60	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/023	Iqra Zahoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/025	Itba Arshad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	
IS/BS/ENG/S-23/M/028	Kainat Ismail	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/029	Kiran Tabassum	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	62	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/032	Mahnoor Sohbat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 6th Semester Morning Session: Autumn 2025

		ELIT 115					ELIT 311					ELIT 312					ELIT 313					ELIT 321					ELIT 322											
		Introduction to Literature					Literary Criticism					Novel-I					Drama-I					Literary Theory					Poetry-II (Romantic & Modern Poetry)											
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product							
IS/BS/ENG/A-22/M/A/002	Abdul Sami	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	11	F	-	3	-			
IS/BS/ENG/A-22/M/A/012	Dil Ruba	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	29	F	-	3	-			
IS/BS/ENG/A-22/M/A/014	Faiza Ali	-	-	-	-	-	-	-	-	-	38	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5			
IS/BS/ENG/A-22/M/A/027	Laiba Kamran	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5				
IS/BS/ENG/A-22/M/A/029	Malghhalara Yousaf (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					
IS/BS/ENG/A-22/M/A/033	Muhammad Kazim	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	
IS/BS/ENG/A-22/M/A/042	Sabahat Umar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/044	Samee Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/A/046	Sidra Hameed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
IS/BS/ENG/A-22/M/B/019	Muhammad Waleed Abdullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
IS/BS/ENG/A-22/M/B/021	Nabeela Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	
IS/BS/ENG/A-22/M/B/024	Noureen Kousar	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0
IS/BS/ENG/A-22/M/B/025	Palwasha Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0
IS/BS/ENG/A-22/M/B/046	Waqar Ahmad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5
IS/BS/ENG/S-23/M/002	Alishba Shahid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0
IS/BS/ENG/S-23/M/007	Areej Mustafa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5
IS/BS/ENG/S-23/M/008	Bareera Sadaqat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/009	Barirah Batool	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0
IS/BS/ENG/S-23/M/011	Chaudhary Noman Ahmad Javed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0
IS/BS/ENG/S-23/M/013	Faiza Ramzan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5
IS/BS/ENG/S-23/M/014	Fatima Baig	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0
IS/BS/ENG/S-23/M/017	Haleema Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5
IS/BS/ENG/S-23/M/021	Huma Riasat	-	-	-	-	-	-	-	-	-	38	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5
IS/BS/ENG/S-23/M/022	Iqra Ghafoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5
IS/BS/ENG/S-23/M/023	Iqra Zahoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5
IS/BS/ENG/S-23/M/025	Itba Arshad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0
IS/BS/ENG/S-23/M/028	Kainat Ismail	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5
IS/BS/ENG/S-23/M/029	Kiran Tabassum	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0
IS/BS/ENG/S-23/M/032	Mahnoor Sohbat	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 6th Semester Morning Session: Autumn 2025

		ELIT 323					GEN 224					
		Drama-II					Introduction to Philosophy					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
IS/BS/ENG/A-22/M/A/002	Abdul Sami	52	D	1.5	3	4.5	52	D	1.5	3	4.5	
IS/BS/ENG/A-22/M/A/012	Dil Ruba	42	F	-	3	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/014	Faiza Ali	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/027	Laiba Kamran	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/029	Malghhalara Yousaf (Withheld due						-	-	-	-	-	
IS/BS/ENG/A-22/M/A/033	Muhammad Kazim	66	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/042	Sabahat Umar	66	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/044	Samee Ali	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/A/046	Sidra Hameed	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/019	Muhammad Waleed Abdullah	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/021	Nabeela Bibi	70	B	3.0	3	9.0	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/024	Noureen Kousar	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/025	Palwasha Bibi	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/A-22/M/B/046	Waqar Ahmad	70	B	3.0	3	9.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/002	Alishba Shahid	70	B	3.0	3	9.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/007	Areej Mustafa	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/008	Bareera Sadaqat	68	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/009	Barirah Batool	80	A	4.0	3	12.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/011	Chaudhary Noman Ahmad Javed	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/013	Faiza Ramzan	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/014	Fatima Baig	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/017	Haleema Bibi	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/021	Huma Riasat	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/022	Iqra Ghafoor	60	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/023	Iqra Zahoor	75	B+	3.5	3	10.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/025	Itba Arshad	75	B+	3.5	3	10.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/028	Kainat Ismail	75	B+	3.5	3	10.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/029	Kiran Tabassum	60	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/032	Mahnoor Sohbat	65	C+	2.5	3	7.5	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 6th Semester Morning Session: Autumn 2025

Registration #	Name	COM 111					COM 212					COM 221					ELIN 116					ELIN 324					ELIN 325				
		English-I					English-III: Communication and Presentation Skills					Computer					Introduction to Linguistics					Psycholinguistics					Stylistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/S-23/M/036	Maria Tanveer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
IS/BS/ENG/S-23/M/043	Muhammad Junaid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	55	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/044	Muhammad Sameer Adil	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	82	A	4.0	3	12.0	
IS/BS/ENG/S-23/M/045	Muhammad Saqlain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	
IS/BS/ENG/S-23/M/047	Muhammad Zakariya	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	36	F	-	3	-	36	F	-	3	-	
IS/BS/ENG/S-23/M/050	Nigah Waheed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	60	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/052	Noor Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	
IS/BS/ENG/S-23/M/054	Pakiza Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	58	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/055	Rishmal Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	71	B	3.0	3	9.0	
IS/BS/ENG/S-23/M/056	Saman Naeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/059	Syed Muhammad Talha Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	67	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/060	Tayyaba Anwar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	
IS/BS/ENG/S-23/M/065	Waqar Younas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 6th Semester Morning Session: Autumn 2025

		ELIT 115					ELIT 311					ELIT 312					ELIT 313					ELIT 321					ELIT 322				
		Introduction to Literature					Literary Criticism					Novel-I					Drama-I					Literary Theory					Poetry-II (Romantic & Modern Poetry)				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/S-23/M/036	Maria Tanveer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/043	Muhammad Junaid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	55	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/044	Muhammad Sameer Adil	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	80	A	4.0	3	12.0	
IS/BS/ENG/S-23/M/045	Muhammad Saqlain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/047	Muhammad Zakariya	-	-	-	-	-	-	-	-	-	-	-	-	-	19	F	-	3	-	-	65	C+	2.5	3	7.5	30	F	-	3	-	
IS/BS/ENG/S-23/M/050	Nigah Waheed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	57	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/052	Noor Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	66	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/054	Pakiza Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	60	D	1.5	3	4.5	
IS/BS/ENG/S-23/M/055	Rishmal Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	
IS/BS/ENG/S-23/M/056	Saman Naeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	39	F	-	3	-	
IS/BS/ENG/S-23/M/059	Syed Muhammad Talha Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	
IS/BS/ENG/S-23/M/060	Tayyaba Anwar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	
IS/BS/ENG/S-23/M/065	Waqar Younas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 6th Semester Morning Session: Autumn 2025

		ELIT 323					GEN 224					
		Drama-II					Introduction to Philosophy					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
IS/BS/ENG/S-23/M/036	Maria Tanveer	75	B+	3.5	3	10.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/043	Muhammad Junaid	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	
IS/BS/ENG/S-23/M/044	Muhammad Sameer Adil	85	A	4.0	3	12.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/045	Muhammad Saqlain	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/047	Muhammad Zakariya	55	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/050	Nigah Waheed	70	B	3.0	3	9.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/052	Noor Fatima	76	B+	3.5	3	10.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/054	Pakiza Bibi	70	B	3.0	3	9.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/055	Rishmal Khan	71	B	3.0	3	9.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/056	Saman Naeem	57	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-23/M/059	Syed Muhammad Talha Shah	66	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/060	Tayyaba Anwar	66	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS/ENG/S-23/M/065	Waqar Younas	65	C+	2.5	3	7.5	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026